- ANSWERS  — Modified Vpreim

The function fis given by f(x) = /In (x - 2). Find the domain of the function.
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(Total 4 marks)

2. Letg(x)=3x—2,h(x)=5—x4,x¢ 4.
; x-

Find an expression for (4 * g) (x). Simplify your answer.

(a)
(b) Solve the equation (% ° g) (x) = 0.
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3. Letf(x)= x* —4and g (x)=2x.

() Find(g°f) (-2).

L T T T T T P T TP TR T Y]

(0o8)(1). 2. 202 2 85 02828 5.02%

------------------------------------------------------------------------------------------------------------------------
----------------------------------------------------------------------------------------------------------------------------------------------
..............................................................................................................................................

..............................................................................................................................................

..............................................................................................................................................

..............................................................................................................................................




4.

5.

=

(]
e

Letf(x)=2x+1and g (x)=3x* - 4.
Find

(b) (g°/)(-2)
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Answers:

The functions fand g are defined by f:+— 3x, gix > x +2.

(a) Find an expression for (f g) (x).
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6.  Consider the functions f(x) = 2x and g (x) = -—1—3 Sx 7 3
x —

(a) Calculate (f= 2) (4). \ >
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7. Letf(x)=.>c3 —4and g (x)=2x.
(@) Find(g=sf)(-2).
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